\\

3 FUSES INCLUDED WITH SMART MODULE
ONE EXTRA FUSE SUPPLIED TO BE
INCLUDED IN MANUAL BAG

e

(77

TERMINAL TIGHTENING TORQUE
TERMINAL WIRE SIZE TORQUE
NEUTRAL/ 10-14 CU/10-12 AL 20 IN/LBS.
GROUND 8 AWG. 25 IN/LBS.

CONNECTION 6-4 AWG. 35 IN/LBS

NOTE:

CLEARANCE IS GIVEN

<

50 IN-LBS

)

DRAWING CREATED FROM PRO/ENGINEER
3D FILE. ECO MODIFICATION TO BE
APPLIED TO SOLID MODEL ONLY.

NOTE:

GROUND BONDING SCRE/

(INCLUDED IN 0L0288)

IN-LBS ,

&

&

&

S

LUG TIGHTENING TORQU ©

TORQUE 45

1

T

aa88g

10 IN-LBS &

L
)22
=]

=

=R

p—

kl
ol
O R

e

SUGGESTED LOCATION OF DECAL
TO BE INCLUDED IN MANUAL BAG

ASSEMBLE LUGS SO THAT

FOR LOWER CONNECTIONS
TERMINAL TIGHTENING TORQUE

7 6 5 % 4 SH 1/1 REV D WINDCHILL VERSION D.2 1
SYM |ITEM # PART # QTY DESCRIPTION
1 |0L2910 1 | XFRSW HSB 100A 2P 250V
29 2 |G074908 6 |SCREW HHTT M5-0.8 X 10 BP
= —_— 3 077033 6 |LUG SLDLSS 1/0-#14X9/16 AL/CU
p 5 5 4 022152 6 | WASHER LOCK SPRING #10 ZC
28 5 036933 6 | SCREW PPHM #10-32 X 3/8
© © 6 | 10000009445 4 |90 DEGREE STRAIGHT SPADE CONNECTOR
5 ) TORQUE ITEM #12 7 | G074138 1 |LUG DIS QK NI-S 10X45 DEG BR/T
TO 24-30 IN-LBS * 8 |0L1934B 1 |HARNS, LC INT CONN, 100A
© © * 9 |0L1934C 1 |HARNS, LC INT CONN, 100A
P 10 |0L0288 1 |16 CIR L/ICNTR 125A/240 SIEMS
/ 11 | G066849 2 | SCREW HHTT M5-0.8 X 16
30 12 110000000817 1 | ALOR ENCLOSURE 200A SE XFRSW
| 13 | 10000000830 1 | ALOR COVER,200A SE XFRSW
@\ 5 14 10000019615 1 | INSIDE COVER 200A 16 CIRCUIT
Il 15 | 0LO6990GSOR 1 |BRKT, BARRIER, 100A NEMA3R
@\ 1% = > 16 |10000019719 1 | SUBPLATE GTS LOAD CENTER
P 4 SECTION B-B 31 17 |0G8411 4 |NUT HEX FLANGE WHIZ 1/4-20
@/ 18 | 085889 1 |NUT HEX 1/4-20 SS
P 5 NOTE: 19 |10000004363 1 |FUSED CONTROL MODULE
SUGGESTED LOCATION OF U-CLIP AND 20 10000005117 1 | FUSE 6.3A 250VAC 5mmX20mm
SECTION AA 7 ARM EXT PIN TO BE INCLUDED IN MANUAL BAG % 21 110000005872 T THARNESS 100/200A TS
22 | 0E6155 1 |PIN ARM EXTENDER
18 23 | 0K8254 1 | U-CLIP ADHESIVE
24 | 10000005894 1 |DECAL TEST SEQUENCE RTG 3R
25 | 10000008602 1 | DECAL WCR NEC COMPLIANCE
C—— 5 26 | 10000037322 1 | DECAL PROP 65 EN/SP/FR
SECTION D-D - 27 | 067210A 1 | DECAL GROUND LUG
= = = SCALE 0.200 28 | 0E3484 1 | DECAL WARN MANUAL OPER HANDLE
- 29 |0G3259 1 | DECAL TERMINAL SHOCK HZD Bl
30 |0G3274 1 | DECAL LIVE CIRCUIT ENG/FRN/SPN
** | 31 [0J0894 1 | DECAL LC 16 CIRC. GENERAC
*%* | 32 |0K1098 1 | DECAL RTS TRANSFER SW GENERAC
33 |0L3546 1 | DATA DECAL PANEL BOARD
34 | 0L6700 1 | SCREW THUMB 1/4-20 X 1/2 KNURL

*-NOT SHOWN ON THIS ASSEMBLY
**-DECALS PER MODEL SEE TABLE

REFERENCE DRAWINGS

10000018987 SCHEMATIC DIAGRAM
10000019053 WIRING DIAGRAM
CARTON 30'56 X142 X7

0K1846

SECTION C-C

XXX =4 0.4 MM

XX XX ==+ 0.15 MM

ALLANG =+ 1°

INTERPRET DIM AND TOL
PER ASME Y14.5M-1994

PART NUMBER DESCRIPTION ITEM #32 ITEM #33 MANUAL WARRANTY
10000010418 RTG LCTR ASSY 16 CIR-GENERAC 0J0894 0K1098 10000012410 0K9470
10000010473 RTG LCTR ASSY 16 CIR-HONEYWELL 10000003120 0K1274 10000019143 0K3103
10000012054 T/S 16CKT. LC 100A NEMA3R GEN 0J0894 0K1098 10000012410 0K9470
10000019165 T/S 16CKT. LC 100A NEMA3R HNYWL 10000003120 0K1274 10000019143 0K3103
10000023713 T/S 16CKT. LC 100A NEMA3R DR 10000029191 | 10000023086 | 10000024114 | 10000023720
10000023730 T/S 16CKT. LC 100A NEMA3R PWRM 10000029191 | 10000023483 | 10000024115 | 10000028401

GENERAL TOLERANCES UNLESS NOTED GENERAC'
ALL XX =+ 0.4 MM THIRD ANGLE PROJECTION ——

=

3R ENCLOSURE

S

EIN

sEiAL ASS

EEVANWVINIG

(€ BENERAC POWER SYSTEMS 2010

GENERAC POWER SYSTEMS OWNS THE COPYRIGHT OF THIS
DRAWING WHICH IS SUPPLIED IN CONFIDENCE AND MUST NOT
BE USED FOR ANY PURPOSE OTHER THAN FOR WHICH IT IS
SUPPLIED WITHOUT THE EXPRESS WRITTEN CONSENT OF
GENERAC POWER SYSTEMS.

LOAD CENTER ASS'Y 16 CIRC.

ISSUE DATE:

ELECTRONICALLY APPROVED
INSIDE WINDCHILL

SIZE | CAGENO | DWG NO REV
e | cace 10000010468 |
SCALE__0.400 | WT-KG 67913.366 |SHEET 1 of 1

6 |

[ 4

2

| 1




	Sheet 1
	Views
	new_view_1
	right_2
	left_3
	top_7
	new_view_8
	new_view_9



